H & 0l & AHS B Ml A

20248 =0ilah LESIH NS 110

Ha: UFEHRSE(LDTHT/ LS - HEA)
S

cHRlr ol SEE NZA Ruds (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NS 110t 593,914 629,764 A35,850
= 68,514
- 525,400
NEHEsS(Less8d/NLdd - HIXH) 519,564 543,628 24,074
= 68,514
- 451,040
=0t sds XA 2d= 382,524 389,543 27,019
NLA HIH2 =8 240,031 261,545 A21,514
201 Ler23 | 239,031 260,545 A21,514
01 At2t2ltl 40,215 41,665 1,450
O1DXM M= 18,225
- MH&EA - HSXEAL AL XIA
85,0002 180 A 16,300
- 2SK - SERIEIA ADLR XA
65,0003 158 A 975
- A2 EAMAXIA 65,0002 *302t A 1,950
O1XA £ 20,350
- MErAl EMID XA 553 %260,00021 14,300
- NSIHAl A XIA
553 %110,0004 6,050
OLXAN EEE ST 1,640
- ¥S¥ 02 *12,00021 1,080
- LE3E 702 +8,000 560
02 S3=gHl 198,816 218,880 A20,064
OLXA &8 RBR= 198,816
- gt 4802 *260,000A 124,800
- S 2,880& 25,7002 74,016
203 AHR=H] 1,000 1,000
03 A= LR F&IH| 1,000 1,000
OMEgs 243 1,000,000& 1,000
HES HEXE gs 36,470 46,220 N9, 750
201 fer= 3| 35,470 45,220 A9,750
01 AtR2t2|HI 6,190 5,860 330
O==& W& 3,000
- SAAI(2E) 85,0003 202} A 1,700
- HIgI=A(M) 65,0003 x202 A 1,300
O==8 25 55@+58,00021 3,190
02 S3=gHl 29,280 39,360 10,080
OSs8 &3 RBR= 29,280
- gt 4803 40,000A 19,200
- S 2,880 +3,5004 10,080
203 AHR=H] 1,000 1,000
03 A= LR F&IH| 1,000 1,000




M A1t

B NEUALE(LUDDHE/ LB - HEA)
Ctel: 3ot sds NSA Fud+ EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONZH HEHNE 252
1,000,000 1,000
ANZME 28 & 82 104,023 79,458 24,565
201 er=23y| 9,816 8,401 1,415
01 AtR2t2|HI 9,816 8,401 1,415
OXISAl 23 A 1,800
- NgAg #g 60,0002 »22& 1,320
- N2 &2 120,000 x4 480
ONE 222 M 7,216
- NgAl EL 22 & 2EH
1202 %10,0000H 1,200
-2 R 88 2U2
12031%5,0000H*42] 2,400
- FIIE UR BE 4ot
83,0002 x80H*43] 2,6%
-2 R 88 Y2t
12,0002 +200H %42 960
OR+=ENA H& 800
- HEH 160,000 x4 600
- RTEHAANS 50,0002 *4H 200
203 HF=AY] 1,000 1,000
03 A= PR FA| 1,000 1,000
OMEEIl 28 g2 1,000,000 1,000
301 EtE NS 300 300
14 JIEt2 8= 300 300
OXXIEH &8 Uelel =
150,000& 22 300
306 £= 11,432 9,903 1,529
01 2d= 11,432 9,903 1,529
OXNZA 3 EAHS 11,432,000& 11,432
308 AtXIEMISOIE 81,475 59,755 21,720
18 SIS0t AS A 81,475 59,755 21,720
OXIgA FEAAY 2 - 722l
81,474,570& 81,475
H=H0 MEg=z 2,000 2,320 A320
203 g4l 1,000 1,000 0
03 A=A 2= 1,000 1,000 0
ONREAL S Mgz gFFN
1,000,000& 1,000
303 Z&a=s 1,000 1,000
01 &= 1,000 1,000
OFA MEg=z= 2= 1,000,000& 1,000
HEFESEE & J1HS| F&E A 137,030 154,085 A17,055
= 68,514




M A1
B NEUALE(LUDDHE/ LB - HEA)
CHol: JjEFBSA Q OO HaE KAl (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 68,516
EE0A XA 137,030 154,085 217,085
= 68,514
- 68,516
201 et 3| 134,030 137,934 A3,904
= 67,014
- 67,016
01 At22telt] 134,030 137,934 A3,904
ONEFEHIA HE == 117,030
- MEIAES 6,696 %16,000& 107,136
= 53,568
- 53,568
- ANESS 8,370 *18= 151
= 75
- 76
- ol2RIEAES 27,9008 * 18 503
= 251
=) 252
- DIBAl BSZE )1H2E
132,000& +70S 9,240
= 4,620
- 4,620
OINEFEDILA A 13,000
- FHSHTMNE S 2E HA oI
200& 10,0000 2,000
= 1,000
- 1,000
- 222 1,000 *4,6000K 4,600
= 2,300
- 2,300
- JIZARES 4,000,000 4,000
= 2,000
T 2,000
- HPWP 2 X122 (4copy) S
600,000& *4= 7| 2,400
= 1,200
- 1,200
ONEFEIIA AL SAHI
8,000& »10& 50 4,000
= 2,000
T 2,000
202 04t 3,000 3,000 0
= 1,500
- 1,500




M A1t

Ha: UFEHREE (L TTHD/ LS - HEA)

Cigl: NEFSSH 2 Jl0| BEH TA (o) 21)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 =LHAHI 3,000 3,000 0
OINEFEHIIAZ AL Y]
20,0002 x10H =156 3,000
= 1,500
- 1,500
HY2AGHI(NS1)(OIEHIIE) 74,360 86,136 A11,776
Jl2Z8I(MIS1) 74,360 86,136 A11,776
Jl23HI(NIS12) 74,360 86,136 A11,776
201 er23 | 26,160 25,920 240
01 At2teltl 25,200 24,960 240
ORKNEg JlE=8Hl
40,0003 x25EH 122 x90f% 10,800
Ol g8 34l
8,000& x25FH 641« 128 14,400
02 35284l 960 960 0
O& L&l || 80,000& 122 960
202 04| 42,000 52,416 210,416
01 =LHA LI 42,000 52,416 10,416
OJI2es =& SH0
20,0003 x252 *143| x 123 +50% 42,000
203 =8| 4,200 4,800 A600
04 PAE2EERFAH 4,200 4,800 A600
ORAEg g4l 350,000& * 122 4,200
405 KHaHE SH 2,000 3,000 21,000
01 TR ESFH SHI 2,000 3,000 21,000
OAMRE LE= 1,200,000 %174 1,200
OL[UPSEEl= 800,000 * 1K 800




